- powlatowe | nr 02331

“rofil poctuzny oroq

-— a.m “.y“_mnv o o
) 88|82 S 68|,
<O z 23| 8¢ s |3 |5
° & Tk B s
- 585 |Bugs|BE|FE | 8|~ = |
v a8 |lx5cs|SE |35 | & |~ 8| &
c $8C |=Re8|es|a2 | ° = | g
st §538 o838 25| B2 | S| 2
= £ cSg [lo8F¥s| 25|28 -
0 @) _._K._N% ,m.r_._mo .m.m .mm.w. . m M m
p =5 Sws (6555 85|38 |8 s 9] 3
W ‘N Wn.w,% ADA.WMN 9| = &
X — ~ 5o ([N o8| 53 > z
02 0 = ° §5| 53 8 || 8| &
C 0 ¢ 25| 8a = | 5| 3
ac¢o Fglcg & | £ @
> > > T | o 5
oo g R AR ==
N -N-N O Ns £ 8 : |5 | o
S oY e m E g s 2 |2 & 22| 55
0O 0 O-X
aaqau
S
= == U
G & & C
000 G
C ¢
oaa G
QN
0
™
+
o
/[+'Q D /[+'Q D 000 0029
\ N o _ 0029+€ 0029+€E _ O
~EV8YS T 2v'8Y2 T 100 1 00'09+¢€ " 0009+ | m nm ~ 0009 7
ZE R
O
o |
- /28F2 1 128Y2 T 900 1 spocee [ ovocse - 0005 A
>
=
554
- 1I8Y2 1 6082 T €00 1 spovsee [ o0opse ] SSal [ 0007
I
Y |
N
= - S6LY2 T S6LY2 T 000 1 spoese [ ovoese - 000€ -
it
o < | 5
= - 88912 =15
. ™
F6LLve 1 8LLve + 200 4 RS b soomse T &5 b 0002 A
ol
£9'L¥2 | 29'Lve Mm
e n..v/ : i T 100 - 0ooTee [ ooo+e | ¢ Hmm - 001 1
See 2 9G'L¥2 || S5'LY2 _ 08« |
EEL | el vesma] 10 She TST ) oo | 8
wmmmm“ t — - sSuve b oveLve | 1 coove Sai J| X0V 1 9
? = 10'0 ip 1€'€0 o
G F A estve | 2sLve | g | 0soR | ] —Ff1 0000 J ,
\ evsva ) srive 00°00+€ 0000+€ A
0|
|
wﬁw+
_ = O
- 8EULYS T LELV2 T 100 1 soee [ ovossz NS\ b 0006 -
oo\Vv
ol
=
WDl
_ - 92Lve 1 92 ve + 000 {1 oS b sessz - 0008 -
A
i — | E
61972 _ﬂM %
- oTsve + arve + 100- 1 S0 b oovossz 1 08 000 -
L
.|
€0L¥2 || €0LYS
eS e 5 | / 00'0 5. 00'09
823 = 0 €0Lye | 20'Lve : 80'9+2 S :
v8s85 ] N m ! 00 1 gewe | wose B F | f VOO0
=R | / = / ' 2ozve | 2ozve 00'0 SW| G5 | vLes
a2 EA < 000 ! Nmuﬁr 2'8G
& 5 / / 1/ve || 102v2 o 083
- e6'9v2 T 16'9¥2 + 200 1 gee b s o b 0005 -
NI
/ - 289%2 1 089%2 + 200 {1 Jeoine [ ovopsz - 00'0% -
: 2
: - . . £
ﬁ L asove +e9ove 1 o200 |  LBSe [ eBkE Ilwo - o00e A
S -
= ol o
® / |
.|
- 199v2 1 199v2 + 100 B | oovenes - 0002 -
S ~
— o
= / / L icove | ogove + 100 |  ShSve | leerve L 0001 -
>
= £ o
=~ o
@ mm,m U
= N o
_ _ o
- 0P'OP2 + BEIP2 T 200 {  coome [ eesnnS - Kq__w I b oooo —@
4
= N
o o ' ' . .

: . OEE LT L e g | EmE - oo -
ESES 5, ya'ove || L2ove || eo0o- S ¢ 0L'¥8
oRoln I 1 ] Nn— ]m/ ' i

mmmm_/.* : Fezove F reove ¥ 7007 1 cooye S . [ SOE8 -
o - —
5 0 M/ | 700 6v'Sye Ereye m/b_f\ m ™ [ 1c€s
LD.N_lD = 7 / m €292 -m L2'9Y2 & 200 00'08+1 " 0008+T 1 o m < ~ 0008
® 029ve | srove @Y
_
(®) - ITov2 1 ETOv2 + 200- | geora  oosora A - 000 A
- 20612
z L
/ - 209v2 1 S09v2 + €00- {  ore b gorre 285 0009 -
— \0
Lo/
. . S
- - - €6'Gh2 T 166Y2 T 200 {1 s b ceoee > - 0005 A
& S
o =
ks
. . %) N
- ¥8Gh2 T 18'SY2 T €00 1 oouen [ coora O|& | 0007 A
1l
ol
@ \ Al 6Lvh2 2Lvve
// 5« SYASTIE S VAT S ON I A A - 0000€ -
0
("¢ o ' '
£5ce ® / L9SY2 || S9SYE | 54 £ etz
aﬁmmﬂu ——  995VE y S9SVE 4 200 | egpem | oz St ) 2202 -
wemmf —— b 99'Gve T S9Gke 100 0er 0002+ gk 0002 T
A _ _
& socre | vosve | 100 e | O
=g
. . ) -
- 19cye + 196v2 + 100 {  rre L sebre o 0007 -
= a |l o
35 4 S
== _ _ >
2 R L sosve +osbe 4 o000 | §9EES T QPR - 0000 —@
5S £
- 25av2 0852 + 200 | oo b edere 5SS 0006 |
0
(04
- 8v'ove + vv'sve + vo0 {  Sdve L orere L 0008 A
< |5
A
6S'vye 6¥'vve m %
@ - EV'SP2 T 8ESY2 T SO0 1 soores T oooreo ¥ 000 4
N
o z |
m an £
0 = , 9S'v12 2S'vre NS T
5 3 - 6E'GY2 T 0V'SPe T 100~ 1 oooss | 000940 Amoa - 0009 A
o e
NI
< | £
L pesye + osske + voo {0 ESEEe AL 212 L ooos A
00'0S+0 00'0S+0 O|®
Q|
ol
>
- = &
@ IS : : : 0Sv¥2 L JEEh - SER _
== - og'sye + 92sve + vo0 | Bare r gavr - [SSo T 007 |
= - 80vYe | O pG
A
X
|
W_ - C2oke 1 ¥2Sh2 + 200 1 dimre & oooees - 00'0E -
_ 0 P2 00'vb2 </
./.k - 126h2 1 12SY2 T 000 1 ovoms  ooeers o| T [ 0002 -
x| ™
=P a |
[e>4
£ (098] v LTSYE L 9T'GYe | 100 A - 2021 A
£ES £ E W/T'CHh2=2Y — _ _ _ 2rvve 96'€Y2 £ _
TSF I L ere _ - LUSY2 T oelsv2 T SO0 1 G | ovone 1 S5 - 0007 -
Yo ££'600+0=u] _ _ | 20 _
55822 * groye T oorgpe T 00 1 L0WPe T eEFe s 8y F ST g
Tp) i3 o
- - Il
Jgra N , 22'Sve | €25v2 L ggo - -2 | goog 1O
_ — — — — — . . . . nn'n VA JaYallatal
S & T ST ST ST ST o T TS T T o veshe [ gese | 098 0000+ 000070 | \=-To° 5568 @
S S S S S S gf S S S
~ - o) o DN NoJty T ~ ™ '®)
L L < < < < < < < )
o Qv o Qv o o o Qv o o
< = >
- O - ' — -—
Z| 2> O o ) - )
L]+ ’ > > ) D >
—~ @O = C = 0 9|5 ()
7o | @ | © |3 e DO = 2 S
Z 3 = n_ZY an © = m cC| C = — N
2 C R = &Y C | Ol > > ,% ©
- leb) 5 O — | = = o +
) ) D g =|-N n| C C
slc |lc | L cNZEmol o | o0 | &9
213522882 E E &5
N , O =0 ® O O | T O
o] N N O N < o V| X ~ —
ol | | P ofw w0 | ¥




